5. (a) .
\\H\

[4, 41 by [-3, 3]
(b) One possible answer:

y = Vx + 2; entire curve

6. One possible answer:
x=13-6t,y=5+30=t=1

7. f x) = — um.@lwv
/ SH E? 3
8.x=—2_ 90091
In1.08
9. (a) wm

(b) x # mmm + »WﬂmoH integers k
(€) (=, —1]U [3, %)
@ UEU |

N AN

[=ar, 7] by [-5, 5]
10. x = sin~'(0.2) =~ 0.201,
a — sin” 0.2 = 2.940

xu
11. (B) | B.w
13. (a) —0 ) 1

(c) d 1
14. ka

15. x = —4 (infinite discontinuity),
x = 4 (jump discontinuity)

16. g(x) = >4

x—3

17. (a) —48 ft/sec (b) —64 ft/sec

18. No; left- and right-hand derivatives are not the
same.

19.
Semester Test Chapters 14 Form A _ ﬂb
) S |

4 . 5 13 .
H.Amvwnwuﬁlu ?vaIMerM W?Ill

2. (a)
L [4.7,4.7] by [-3.1, 3.1]

X//_ — 20.

L B \/;
B I 1 ﬂ I | H
[4, 4] by [-3, 3] r<

(b) All reals (©) (—oo, 2] .
3.(B) 4. ~ 19.525 years (-4, 4] by [-3, 3]
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_N_. mo, w c ﬁ 8v S.@
x2—2x— 14
T,

24. (a) 4x°— 152> + 9 (b) 12x% — 30x

25. (a) 242.5m (b) 48.5 m/min
(¢) 1485 m/min  (d) 60 m/min’
(¢) = 0.5 min

26. (a) [

[0, 40] by [-8, 8]
(b) t = 10: =0.2 ft/sec
t =25 =—0.4 ft/sec

27. (a) o)

:

y=P'(x)

TTTTY

[0, 15] by [~5000, 5000]
(b) $480.00 (c) $1711.11
(d) $3920.00

28 12 sec? x — 3 sec x — 3 tan x sin x
' (4 — cos x)*

29. 6x sec (3x°) tan (3x%) 30. 81

3y=V3x—2 32, Bt ysing
‘ 3 — xsinxy
1
33— .
1+ (x —4)? 34. (B)
35,265 — 2
X
36.Min: latx =0
Max:3atx=1
37. (a) [0, ) (b) (=, 0]
, e L 1
© A e, wuu (1) (d) ? @
() Min: =3 atx=20
Max: None
1961 35
@ @ wﬂv ? sv
38. (D)
453
39. f(x H%lw&lnomx.vm‘
40. i
“/ 1 i 1 1 1
(4, 4] by [-3, 3]
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41. (a) V(x) = Amw@vﬁw — @)

= 2% — 57x% + 385x
(b) Domain: (0, 11)
(¢) Volume =~ 760.850 in®> at x ~ 4.393
42.0=3 b= —45



